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There are 20 questions in this paper and the total score is 100.
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Unless otherwise stated, all numbers in this paper are in decimal system.
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Each answer must be given in the form of an integer between 0 and 9999. Follow the

instructions on the answer sheet to enter the answers. You are not required to hand in your
steps of working,
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The use of calculators is not allowed.
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The diagrams in this paper are not necessarily drawn to scale.
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Note: Each answer must be given in the form of an integer between 0 and 9999. Where necessary,

the answer should be rounded off to the nearest integer in the above range. Read the instructions on

the answer sheet in detail.
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How many minutes does it take for the hour hand of a clock to make one complete

revolution?
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In & 10x10 table, how many cells are there in total in the second and third rows
together with the second and third columns?
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The numbers i, 3, 4, 5, €, 8 are written on the six facss of a red die, while the
numbers G, 2, 4, §, 8, 10 are writien on the six faces of another blue die. The two
dice are now thrown. If the sum of the numbers obtained is 9, how many different

possibilities are there?
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Macy goes to the library at most once in any consecutive five days. At most how

many times will Macy go to the library in January?
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Three interior angles of a quadrilateral are 1.5 times the three interior angles of &
triangle respectively, while the fourth interior angle is x°. Find the value of x.
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Let @, b, ¢ be positive integers such that a!xb!xc!=25920 (where
m!=1x2x---xm). Find the greatest possible value of 4.
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An equilateral triangle has the same side length as a regular hexagon. How many

times the area of the former is the area of the latter?
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Find the smallest four-digit positive integer » which is divisible by 9 and which

consists of four pairwise distinct non-zero digits.
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The numbers 2, 3, 12, i4, 15, 20, 21 are divided into two groups such that the
product of the numbers in each group is the same. Find this product.
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et p, q, r be prime numbers. If pg+ pr=80 and pg +qr =425, find the value of
ptgtr.
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The interior angles of a sonvex n-gon (in degrees) are all positive integers, and

they form an arithmetic sequence. Find the greatest possible value of .
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Find the sum of all positive integers smaller than 100 which are divisible by 4 or 5.
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How many four-digit positive integers are there such that the four digits form an
arithmetic sequence in that order (e.g. 1357, 5678)?
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In the sequence {a,}, we have a, +2a,,,  =3n for all positive integers n not
exceeding 2014. Find the value of a,,.
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A guestion in a mathematics test reads: “Write down a sequence containing one or
more terms such that each term is 1, 2, 3, 4, 5 or 6 and no two terms are the same’.

How many different correct answers to this question are there?
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A cube is cut into two cuboids such that the ratio of their surface areas is 3:2 , and
the ratio of their volumes is a: 4 in lowest form. Find the value of a+5.
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Let a, b, ¢, d be positive integers such that a +b+c+d = 63. Find the maximum
value of b+ bc+cd .
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The area and perimeter of & sector with radius 3 and angle x° are numerically
equal. Find the value of x.
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Let n be a two-digit positive integer whose both digits are nonzero. By switching
the two digits of n, one obtains the positive integer m. Given that the H.C.F. of m

and » is greater than 5, how many different possible values of n are there?
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If a positive integer reads the same from left to right as from right to left, it is
called a ‘palindrome’. For example, 38832, 12321 and 25052 are ‘palindromes’.
How many ways are there to choose two three-digit ‘palindromes’ such that their
sum is a four-digit ‘palindrome’? (The order need not be taken into account. For
example, (202,909) and (909, 202} are regarded to be the same choice.)
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